Name Test 4: Unit 6 Review

1.While riding in a car, Rachel saw 13 2. Water is flowing into a S0:g@llonDaNtuDI

red cars pass by in one minute. At this rate, at a rate of 2.5 gallons per minute (gpm).

how many red cars will she see in 2 hours? To the nearest minute, ‘
will it take to completel

A 1500 Miedes W Lhount e

A. 48 minutes
B. 1440 D. 1680 CO-L = L0~

B. 24 minutes D. 125 minutes

[L0(13) =156 as) ) -

3. Which statement describes the rate of change of the following function?  f(x) =.+ 8

A. The function has a constant rate of change, inc%sing for all x at a rate ofX
B. The function has a varying rate of change when x = §.

C. The function has a varying rate of change when x < 4.

The function has a constant rate of change;-lor all x at a rate o.
G-y
4. Megan is going on a long distance road frip. She drives for 17 miles before being able to travel at a
constant speed using cruise control. The equation used to find her total distance traveled is shown

below.
N
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If v is the total number of miles driven, and x is the number of hours driven after reaching 17 miles,

\% the distance traveled on the trip

( B. the constant f speed while on cruise cuuuul)

#. the number of hours driven on the trip

*{. the distance driven before being able to travel at a constant speed

] X

S.  What is the equation of the line that passes through the
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7. Jack is unpacking boxes of magazines at a

bookstore. To track his progr rds the
and the

=" if Jack started with 50
Boxes and continues to
unpack at the same
rate, how many more
« hours will it take him to
reach his goal of 14
boxes left to unpack?
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6. Mrs. Stewart is making banana pudding
a family reunion. Her recipe uses

_about how many bananas
will she need to feed the 228 people that
will be at the reunion?
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8. Which of the following equations describes the function graphed below?

7 /"7

9. Which of the following equations describes the table below?

x | vy
3 | 5
0 2
3 9
65 | 16
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s b= U (=3 x4l

10. A linear function has a slope of 3 and crosses the yeaxs at 11 Vhat is the equation of the line?

D. y = llz 4+ 3

i y=32-33 o y=35-I

11. The equation of a line in the point-slope form is show below. What is the slope of this line?

v —9 =3z -8)

12. A lingar function has a slope of 3 and passes through

the paint {0,113, \What is the eguation of the line?
A y=1¢+3 (g v=3c+1

B. y:%—ll p. v =3¢ -1

13, Zx-dy=12

Yhat s the y-Intercept of the equagion above” \
Aoy (e Nt o
o 45 O Y=l

15. Which of the following equations matches the graph below?
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14. |dentify the slope of the line below.

v =10
~2
3 D
B. %
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16. A line passes through (6,3) and {9-3). - 1- 6 - 3 —

YWyrite the equation of the line in standard form. ~
A Zx-y=0 \/ 3 1()( C) Y‘HX = 1243
B. 2x-y=9 D. 2x+y=0 \‘@ @-\\l [ 2"“‘/ —KB

17. Jamie is trying to lose weight. She starts a diet and workout regimen and records herweight {y) every
weelk () at her gym. Her initial weelght was 1584 1bs.

Weei]k (x) Wei%h; () Y = ’q)( + \42('{
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If Jamie continues to lose weight at the same rate, how many more weeks will it take her to reach her goal

of 156 lbs? —_—
A, dweeks C. 2weeks -—, L\ =
B. 3weeks > D. 5Sweeks \ ‘ \\ ’
( t"luce\“““” T
18. The amount of Jerry's pay every week before taxes, J,is given below as a function of the number of
avertime hours that he wiorks (the number of hours over 403, /.

Lw\\\g J=$49360 + $18 51h
Assuming t_hat Jerryis only paid for each whole hour that he works, hc:uw mary total hours wiould Jerry have

to work during a week to make at least $650.007
‘: (s0 ¥ Hagfo 4.5k
“lO"’a\—L\o\ A 48 {430 5 .60 j\c\
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19. The amount of fuel, in gallons, in a wvehicle's fuel tank after driving rm miles is 20 = LR
Which statement is correct?

Far every mile the caris driven, the amount of fuel decreases by 20 gallons.

Q For every mile the caris driven, the amount of fuel decreases by trid gallons.

L ——
C. Forevery mile the caris driven, the amount of fuel incre}{ses by 20 gallons.

D. Forevery mile the caris driven, the amount of fuel incrééses try 0.04 gallons.

20. At the county fair, one of the more popular booths is the Crawfish Race booth. In the last race, the
champion crawfish traveled S mm after the first second(and 52 mm after tienty-nine seconds.
(1 {ﬂ\ ) (14, 52

Approximately what was the average rate of changeor the distance covered during that time*

A. 154 mm per second C. 065 mm persecond 'S?.-'l l | 34 \
B. 43 mm persecond D. 28 mm persecond M-\ i ﬁ



ogurt stand charges per ounce of frozen yogurt purchased. There i
. The ii'il coi' ic), in dollars, wl, Is described

by the function ¢ =

Which statement is true?

\K The cost of 0.25 ounce of frozen yogurt in a waffle bowl is $2.

The cost 0.25 ounce of frozen yogurt in a waffle bowl is $2.25.

=ach ounce (RSN < =M bov > $0.25 extra.
r at the airport and walks to a moving sidewalk, which takes

22. Mr. Baker leaves the check-in ¢
him to his gate. in meters, from the check-in counter while as been
standing on the moving sidewalk for s seconds, is described by the functior.= 3s

Which statement is true? CB"‘/“C

* Mr. Baker is 3 meters from the check-in counter after 33 seconds.
K Mr. Baker is 30 meters from the check-in counter 34 seconds.

@ Mr. Baker moves 3 meters per second while standing on the moving sidewalk, and he
walk.

\vﬁ Mr. Baker moves 30 meters per second while standing on the moving sidewalk, and he

23. Sebastian bought x gallo s station. When he

paid for the gas

much did he spend in all at the gas station?

A $7.93
B. $2207 2.57)( - Cod’
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D. $106.05
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